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Q.1 Choose the correct option 4
1) c) Health tourism

i) ¢) Nucleated

iii)  d) 1.21 billion

iv)  c) Escarpment

Q.2 Match the following. 4
[(1 - b)v (2 - f)l (3 - a)v (4 - d)]

Q.3 Answer in one sentence.( (Any 4) 4

i) India with rich cultural heritage has varied type of historical, cultural, business and adventure

camping destinations in India.
Example :Ajanta ,Verul ,Elephanta Caves.

i) The climate of Brazilian coastal areas is hot and humid with frequent heavy rainfall.

iii)  The state Kerala has female population above 1000 per thousand males. The union territory of
Pondicherry also records a higher female population than the male population.

iv)  Rainfall varies in Brazil due to physiography.

V) Rivers originating from Western Ghats are short and swift.

Q.4 A] On the outline map of India, shade and mark the following .(Any 4) 4
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Observe the map of Brazil and answer the following. (Any 4)

Guiana Highlands

Tropic of Capricorn

Equator

Santos ,Rio de Janerio. Salvador
Brazilian Highlands

Give reasons (Any 2)

Wild life is a part of forest eco system. Depleting forest cover, poaching population and rapid

deforestation are some of the important reasons for the wildlife to decrease resulting to
extinction of some species.

1. Convectional rainfall is common in the equatorial areas.

2. India is tropical country, but equator does not pass through India.

3. Because of India’s physiographic features, the moisture-laden winds get naturally obstructed
by mountains like Himalayas, Western Ghats and Eastern Ghats and causes orographic rainfall.
Thus, orographic type of rainfall is more prominent in India.

1. The imperial power which ruled Brazil (Portuguese rule) also ruled over Goa in India.

2. The Portuguese rule in Goa lasted for as long as four and a half centuries.

3. Even after we gained independence from British, Goa stayed under the rule of the Portuguese.
4. Goa was freed from Portuguese ruler on 19 December 1961.

5. In 1961, the Indian army invaded Goa after the Portuguese fired at Indian fishing boats.
Waterways a long the river have high potential in Brazil. But the inland waterway is not highly

developed. Brazil has long coastline, yet the coastal waterways is not developed to its highest
potentiality.




Q.6 A] Classify the following activities in by ticking (\/) in the respective column.

i)
i)

iv)
vi)

Q7
)

i)

Activities Primary | Secondary | Tertiary
Television Broadcasting N
Bee-keeping N
Coir and rope making
Jaggery-making
Producing blades of the plough
Construction
Extracting Iron Ore
Automobile Production
Rice Production
Teaching
Driving buses
Providing longing and boarding facilities
OR
B] Study the graph and answer the following question.
2008, 2010, 2011, 2013, 2014, 2015
2013
Balance of trade in the year 2013 has a huge difference in imports and exports which is why it is
very favorable.
2013 onwards the value of exports has exceeded the value of imports in Brazil.
Approximately 1000 :import 3750:export
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Answer the following in short. (Any 2)
Ganga river basin Amazon river basin
1. Nucleated settlements are found onthe | 1. | Dispersed settlements are found on the
Ganga river basin. Amazon river basin.
2. Ideal for living as it has fertile soil and | 2. | Unsuitable for living due to marshy
abundant water. lands and dense forest.
3. | Well connected by roadways and 3. | Poor transport connectivity due to dense
railways. forest.
4. | Tropical climate condition with 4. | Humid temperature climate with high
medium rainfall. rainfall.
5. | Agriculture is the main activity of the 5. | Forestry is carried out by the tribal
people living here. communities living here.
6. Settlement is clustered along the bank | 6. | Settlement is dispersed within the dense
of river. forest.

It is very important to ensure safety of ourselves and other during a field visit. The following
care should be taken during field-visits:

1. You should obey the instruction given by the teacher.

2. You should not go to unknown remote place alone.

3. During field-visit, you should try to understand the local circumstance by conversing with the
local people.

4. You should also ensure that you do not harm the environment in any way during your visit.
5. You should always keep a first-aid box with you for emergency circumstances.

1. India immediately after independence, India faced several problems like the three ware,
famine situations in various parts of the country.

2. For more than three countries, Brazil was under Portuguese rule and got its independence in
1822. But still from 1930 to 1985 for more than a half century, it was under a populist military
government. It had to overcome many global financial difficulties in the late 20" century.

1. Brazil: Degradation of environment is happening in Brazil due to illegal smuggling of wild
animals, slash and burn agriculture (roka), deforestation, pollution and many more.

Examples :Amazon basin, coastal regions

2. India: Degradation of environment is happening in India because of poaching, pollution and




rapidly occurring deforestation.
Examples :evergreen forests near western Ghats

*This question paper is for practice purpose only.
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